
Integration practice #2 

Write the indefinite integrals 

1. ∫  (𝑥 + 2)(𝑥 − 1). 𝑑𝑥 

 

2. ∫   ௘ೣ ହ௘ೣା ଶ଴ .dx 
 

3. ∫ 5(4 − 𝑥)3  . 𝑑𝑥 

 

4. ∫ sin 3θ  sin θ .dθ  

 

Calculate the unknown, k: 

5. ∫  𝑒0.25𝑥. 𝑑𝑥௞଴  = 5  

 

6. ∫ ସଶ௫ ା ଵ ௞଴ .dx  = 1 

 

7. ∫𝑘0  sin 2x .dx  = 0.5 

 

8. ∫3𝑘  x2 − 3 .dx  = 2 

  



Answers: Integration practice #2 

Write the indefinite integrals 

1. ∫  (𝑥 + 2)(𝑥 − 1). 𝑑𝑥  = ∫ 𝑥ଶ + 𝑥 − 2 . 𝑑𝑥  + c =  భ య  x3 + భ మ  x2 − 2x + c 

 

2. ∫   ௘ೣ ହ௘ೣ ା ଶ଴ .dx      =  భ ఱ  ln |5𝑒௫ + 20 | + c  

   or =  భ ఱ  ∫   ௘ೣ ௘ೣା ସ .dx   =  భ ఱ  ln | 𝑒௫ + 4 | + c 

3. ∫ 5(4 − 𝑥)3  . 𝑑𝑥  =  ఱషమ × షభ   (4 − 𝑥)ିଶ + c  =  
ହଶ (ସ ି ௫)మ + c 

 

4. ∫ sin 3θ  sin θ .dθ = ∫ భ మ cos 2θ + భ మ cos 4θ .dθ  =  భ ర  sin 2θ + భ ఴ  sin 4θ + c  

 

Calculate the unknown, k: 

5. ∫  𝑒0.25𝑥. 𝑑𝑥௞଴  = 5  [ 4e0.25x ] 𝑘0  = 5  4e0.25k − 4e0 = 5 

  0.25k = ln  వ ర    k = 3.2437 

6. ∫ ସଶ௫ ା ଵ ௞଴ .dx  = 1   [ ర మ  ln | 2x + 1 | ] 𝑘0 = 1 2 ln (2k + 1) − 2 ln 1 = 1 

  2k + 1 = 𝑒଴.ହ    k = 0.3244 

7. ∫𝑘0  sin 2x .dx  = 0.5  [ షభ మ  cos 2x ] 𝑘 0    = 0.5 షభ మ  cos 2k − షభ మ  cos 0 = 0.5 

  cos 2k = 0   k = ഏ  ర    
8. ∫3𝑘  x2 − 3 .dx  = 2  [  భ య  x3 − 3x ] 3𝑘 = 2    ( భ య 33 − 3×3) − ( భ య k3 − 3k) = 2 

  k3 − 9k = –6    k = 3.29 


